D

L

2. sﬁvnﬁ?maﬂaﬂﬁ%aﬂt%éww

1. 40% =ik qW=R-9 X ‘%@ﬁ 3R 50%
=fth FAER-TF Y 9ed € | 10% =fp
S YATE-TA Ygd & | fra =Rk g 3
. YFeTeRwETETEE ?
- 40% persons read newspaper X and
50% persons read newspaper Y. 10%

- persons read both newspapers. How -

many persons do not rcad any of the

newspapers ? _
(A) 15% ' (B) 25%
- f,(C) 20% D) 30% -

- 45 | viaat qRom R

The average of 5 results is 46 and that of |-

the first four is 45. The fifth result is

(A) 10 ®) 1
© 125 (D) 50
SLIQ'}"E%-— g2 ¢
3. V298116 47744 = -
&) 1262 B) 12.26
P 1426 D) 1462
4. Wﬂﬁﬁmﬁrﬁiﬁw%ﬂﬁaﬁ%ﬁmﬁ
gy _
@ TR @) Y
- (© R @) wRm

Plant cell wall is made up. of what
among the following ?

(A) Glucose ~B) _Ce_ll‘uldse
(C) Sucrose (D) Fructose

5.~ (5:21x632)-29272~. .
4 32 .. _® 30 .
(C) 34 D), 36
(0.05)2+ (0.41)2 + (0.073)2 "
5;' + " (0.005)% + (0.041)2 + (0.00732 "
. (A) 10 ‘ (B) 1I =

7. o e Al Rre-gmE 7
AA) T - IO
® ffie-go,
(C) - e - U,
@) -, .
8. wwqﬂ'égaﬁiﬂ?rwg:
) EmTEET,
- (B) Mg W T WG A
A(C) I =Tl bl HedT BT |
©@) W"m'x . |
9.' ﬁsﬁmmﬂﬁmﬁﬁﬁml
(A) A+, -
L@ mwR,
(C) wfe+=Ry -
ﬁ) W

5o

10. " forer fares 3 Wna—gur - m_,h'gg;
TR 7

TR i
(4). aTﬁa W w-amre
(B) 3 - 3 e = ey -

: (CJaﬁmaﬁmamnﬁW/-"
/(D)Wmﬁﬂﬁmﬁ;ﬁﬁﬁ

ll ﬁmﬁmﬁmmwwg?
. AA) T, TR, sy

(B) T, PR, siawm,
(C)T—ﬁtﬂ%‘iﬁ,ﬁﬁﬂ

/(C) 100 . @ 100

D) ﬁmﬂ?ﬁﬁ?ﬁ
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Iiead. the passage carefully and answer the
- corresponding questions : (Q. 12 and 13)

Last week Caroline went on her first deep sea
fishing trip off the coast of Catalina Island.
She had always_enjoyed fishing when she was
a child but had never gone fishing in the
ocean. Her dad liked to fish very often. Her
big brother Jack was never the outdoor type,
s0 her dad took her out often. One of his
favourite spots was Lake Isabella, which was
about two hours from their home. She recalls
how she and her dad would spend a long,
leisurely day driving to the lake, and then
taking his small boat out on the water. It was
quiet and peaceful for the most part. Those
memories remain some of her most cherished
moments of her life. Caroline has a friend
called Robert. On this day, Robert invited
Caroline to join him on his company’s fishing
trip. Robert said it wouldn’t cost much but
would be a lot of fun. He knew Caroline
enjoyed lake fishing and figured she would

have a great time. “Okay”, said Caroline, and g

to the ocean they went.

The first thing Caroline noticed, however, was
the ‘motion. “Wow, this boat really rocks”,
Caroline told Robert. “Don’t worry about it.
You will get used to it”, he said. The trip tothe
waters off Catalina Island took about an hour.
Caroline marvelled at how quickly she lost

, sight of the mainland. It was a bit scary when
she thought about how alone they were in this
great ocean. Soon, it was time to callect squid
for bait. The small boat stopped in.the water
and the crew turned the bright light into the
ocean to aftract the squid. Before long,
thousands of squid rose to the surface and
were collected for bait. After about an hour,
anymore. They were ready to fish. Caroline
caught her first ocean trout. It was a beautiful
day. "y :

12. Was Caroline’s brétl;er an outdoor type 7
) No (B) Yes

17,

14,

18.

—)

13.  Why were the squids collected ?

(A) Forselling (B) For eating
(C) - For cooking (D)  For baiting

e i 1 3R T FW g, Fem A
a1, “ag 7 Teft % Grar i Feheitd! T
£ s 34 & |7 Aften Few @ fhy

THREEa s 7. ‘é ‘
) == (D)

Pointing to a woman, Nilesh said, ‘fShe
is' the only daughter of my wife’s
grandfather’s only child.” How is the
woman related to Nilesh 7 -
(A) Wife (B) Mother

" (C) Aunt (D) Daughter

15.  3TETH IS B /Find odd 61:1& out :-

8,27, 64,100, 125, 216, 343

_—£A) 100 (B) 27
(C) 125 (D) 343 |
16. 1 S8, 2006 F War o1 | 1 I,
2010 ! THTE T |1 &7 o7 7
~A) TpRER (B) ®WER
(© WER (D) HEER

It was Sunday on Jan. 1, 2006. What was
the day of the week on Jan. 1, 2010 ?
(A) Friday (B) Monday

- (C) Sunday (DY Tuesday

| 'Giy_:‘: synonym for the word : “Partial”
(A) Intactx _B) Incomplete .
© 'Pcrf;fct - (D) Unbroken
x

Choose the ¢orrect antonym

: “Disappoint™ .
~(A) Satisfy (B) 'Sale Fpo
(C) Exa:'nple y (D) Meet

19. Give one word substitute for —

“The Practice of writing ed: s
compwg’ egﬂl_“_g_ffli/on
—— Y i
~®) Lexicography () p;q h
(©) Philology graphy

%ﬁﬁ- (C) Notspecified” (D) Can't say
=9-". t

©) Psychology

- . —

oL 4 o4

e
A1
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20. TTENORNT"L@RPNLBM%W:‘:; 65) s, 2022 F, WA P UEH TRy
wifea R e 2, @ GATHER %1 Hig T2} T IgETEA 4 4 form e
HITET 7 TBG PFH fFm T e ? -
IFNORMAL is coded as RENLBM, then |  (A) oI (B) IThr
what is the code for GATHER ? ©) dm@r, (D) WEwR,
~(A) TBGRFH (B) TAGRFH In August, 2022 India’s first underwater
(C) TBHRFH (D) TBGREH metro was inaugurated in which of the
_ following cities 7
21. ﬁﬁﬁ%ﬂmﬁwﬁqm%aﬂtg (A) Pune (B) Kolkata
:;ﬂ;ﬁé gtmﬁm Tt g | Frewet (C) Bangalore (D) Hyderabad
o1 e P TR () o s 2 35 et 3 e
a1 16w w9 @ T e 6 o o 3R R R 7
TS 19 o o e et o e o
JgEOHEAR | /M) vrE (B) ATE.T
- - (C) Tl x(D) =M
= ;e A 213D E‘_’ﬁa Which among the following country’s
T 150 Wi da E |
scientists have pr-::pared first synthetic
e, -embryos ?
1 g R (A) Tsracl . (B) USA
111 @ﬁﬁﬁqﬁag s . g 24. Wﬁitﬁﬁe{ﬁqﬁ'ﬁiﬁﬂﬁﬁ?ﬂ
IV. 5 frae Fi=d | T A IBX (R devimme gﬁ»ﬂﬁ
A iy ) W R 7
_ | = - . (A) Wenrg- rﬁ—an
(©) Fa« D) FHIAFRT #(C) TR gg IRy E ?
In the following question statements are © Prime Minister Narendra. Modi has -
given and these statements are followed by- launched the IIBX (India Int ;
conclusions. Read the conclusions and then Bullion Exchange) in which i nAkonal
decide which of the given conclusions’ following states ? w‘ c¢h among the
logically follows the given statements, A
disregarding commonly known facts. EC)) g;hai::s htra (B) Goa
Statements : All the books are papers. ®) Utta.r Pradesh
Some papers are journals. Some joumajs 2. ﬁqﬁ"’%ﬂ LK ﬁﬂ? ?{:ﬂ 5[ GFR?I' 2022 I
are calendars, . T 5 Wmmmma@
Conclusions: | . EIST'QEI mﬁﬁ;q'r  SUSTLI
I.  Some journals are books. - (A), W .. ®)" W
II. Some calendars a_repapers (9] m ~(D) ict
III. Some books are journals, Which among the following countries
IV. Some books Eu'ccalendars ::iﬁ:gm u;t; Ta:f:é:i i’el‘ ‘military
(A) OnlyIl (B) Only] (A) USA @) Ruslf:ﬂ’ 20227
" (C) Onlylll (D) None of these (C). Israel . (D) China
04 4

@ Scanned with OKEN Scanner



D= S

26.

wr{'cﬂuﬁm?rgaﬁ 2022 #

mwaﬁamﬂmmm

=1 3T fRar o |
(a) DEaE - (B) RO
© wae D) AL TE

‘The Indian Army had conducted a pan-
India satellite communication exercise
named in July, 2022.

(A) Spacelight (B)- Skylight
(C) Moonlight (D) None of these

2. W%ﬁﬂﬁﬁﬂﬁaﬁﬁﬂ;‘m@{"

78,

- ‘&"ZZ
5t

%1 qaell IS 1 IguTeA [HAT T 7
' (A) =SREEEEE |
B) e el

_',-—(C) ﬂﬂiﬁm

(D) ITEAGER ¥ TETS

! -First flight of “Akasa Air” had been
- . inaugurated between whlch two cities in ¢

India ?
(A)
®B)

- ©

Chennai to Mumbal
Jabalpurto Delhi.
Mimbai to Ahmedabad

| (D) Ahinei:labad to Lucknow

emsnfmr n@?ﬂa%aﬁ'ﬁ%ﬁﬁ

aﬁmﬁnﬁ%ﬁﬁﬁmﬁa‘mw
g&mw%? ,

(A) ﬁxmw;a) aq:i’dn‘mﬂ

© TEIEE (D). fRm A

Amrit Mahotsav has been launched by
which .among the followmg Ccntl‘ﬂl
Ministry ?
(A) Mlms{ry of Bducation
®) Ministry of Culture
_ (C) Ministry of Home Affairs -
(D) M1mstry of Extemal Affairs

_ 32;
‘Badhe Chalo’ campaign under Azadl ka

(C) UAE.
30.

31.

(D) Wi

Which among the following is not a

" peighbouring country of India ?

(B) China
(D) Maldives

e T 3 e s
W@ﬁaﬂi aTr;‘f% f&Te < Al4Bharat
el g’ <61 e 7

(A) ITHER  (B). 1T BeUeET,

) uTE= (D) NTHH

‘Which among ‘the following IIT has

launched the ‘Nilekani Centre at
. Al4Bharat’ to ‘advance Indian language

(A) Myanmar

~ technology ?

(A) 1T Kanpur = (B) IIT Hyderabad '_
(C) "1IT Bombay (D) IIT Madras

o B B s & <

efieht ganadi <l aeh 3T TEE GRE W

T T GRS fepa T 7
AA) sfmwE  (B) AR

©) ITIIF (D) THHQ

A National = Conference on Drug
Trafficking and National Security was
held ~at Chandigarh under - the
chairmanship of which Union Minister ?
(A) AmitShah (B) Smriti Irani
(C).. Anurag Thakur (D) Narendra Modi |

PrrrieRem 3 & B = T e vEe
- FUER ' WG TS o T R 7

&) F@ )

Whlch among the following states

became the first ‘Har Gha: Jal’
state in India ? : Cerllflﬁd

A K‘“a‘a B) Goa

=t s B

04
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%hl

Iigi S fafyear R 7 Tive 5
TR SR ? |
@) 13 AB) 2w
(© 15REw (D) 107EE
- International Day for Biologica]
* Diversity is celebrated on which date ?
(A) 1April (B) 22 May
(C) 15December(D) 10 November

. ﬁﬁﬁmﬁ@rﬂqmﬁ@mwﬂa@
R K .
© TGN D) wgehdn
... Which among the following is the
.. largestriver island in the world ? -
" (A) Manpura Island
(B) Srirangam Island
(O . Lululsland
(D) Majuli Island .
ﬁc‘ﬂ%@ﬁﬁé{ﬁfﬁﬂﬂﬂmm% ?
(&) SeRwie®) ik
- (C)
- What  among the following is the -
~ national currency of Hungary ?
-* + ~(A) Hungarian Forint
“.+ (B) Hungarian Naira
()] Hungaria'nPoundx
D) ,Noneofthese_' e
36. T & TG MTHT F TR T WA
7 TEATHEHF A GARY | R e
~(A) Fu¥E  (B) wWeRmE
5 © ¥ D) 7= -
- Name the first state in Iridia formed after .

i~~~ independence on the basis of language.
- (A) Andhra Pra;lesh (B) Maharashtra

@

(C) Kerala (D) Goa

k- A S T 8 72 g w6
Beo TR YR | _
) 21 B) .18af
g A0 25°. (D) 30w,

____is the minimuy, age for
~ holding office in the Lok ISabha.
- (A) 2lyears .. (B)--18years

(C) 25years (D) 30 years

AT (D) AT 4

- s PR A A Fd 7
38, weeoﬂ?jﬂmmm

I BUEs HANE I
®) ?E*ﬁ@f iRt

- UNFCCC stands for what among the
{E)IDTII:E;& Nations Federation
Convention on Climate Change
" _“(B) United Nations Framework
: ~ Convention on Climate Change
(C) . United Nations  Framework
Council on Climate Change
(D) United Nations Federation Council
_ _on Climate Change =
39, R

Freafie 3 & fom 75 w1 o
O O 8
LA IR ) e gg‘é

(0 sgww

Nautanki is a folk dance of which among
. 215 following states ? = .

.- {A) "Uttar Pradesh Kerala

; '(C) "Karnataka D)

40, . =g |

et .
D) FHIFETE
. of International
at '
, : S L4 s .
(©) *Gefmany. (b} SWitzerland- 4
ﬁwﬁ‘-r&ga 4 ¥ fray T qEd
() Tl gy e e

(A) Mahatma Gapgp; -
) Swamj Vivekananda
Gulzar

(D) Rabindré.r_laﬂl, Ta.g..ore

04
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| ﬁnﬁxﬁamﬁ;ﬁﬁ*%ﬁ@@
o . 428 46) F W I ,

R
" a2 | e el T 1 S Sl 8, e
g T @ ot o B § | A Wiy
T 2 = T R | AR ¥ @
A Taaeh sk @ SERT e |
1 Tifecd T 1 st e

T 3 20 % Frg wm F F d s Sl e |

oft, 38 T <6t A 1 oY, TEA-HEA <
g 37 aTfifs R 8 3, WEa $o
A 3 WTe ST & 9T g

(ot @t 1 gdvr 2 @
2 5 oifews 9o &1 7 e A ¥

Rrgmfl @ frgamal W weR A&l i I
feram e & %6 Fore oft srreTefiet 1€ T |

' ﬁaaﬁ?aﬁ foam 31 3NTG @ I
w,m?{ Dl 1l ~ j
mmﬁmﬂmﬁﬁmﬁﬂ'ﬂﬁﬁ“{
TrEel wou W R R aEe wh wR H
FEHI 3 G&E AF gRT SRgd F1 & Feec
1 TR ) 1S T g & | e 98 i
2 A 7o derard F i T A | :

42, uifec I gt 1 fafg R R |-

AR P
y itk
) AT
V% ST ST 2
D) Hdlhl »

®

(D) AR

1, witw 7 e o @ e A D

ARA AT ST HARA G |
| Tarf?ﬂsaﬂ'ﬁ?ﬁl b n%f?%ﬁaﬂ"
’ =¥, ’
aﬁ*éimarrﬁ%‘faﬁmmﬁlx :
e A Hhell IfoeRar, SRR,
Frigraar S I Tl %
I e B & ST Hehal ¢ |
45. WITEcT heel THE HI U T AR R 7
A i wiee g WA <t fagea
GIEET N E TR S
S ® i uiRewn Faa wmw 6
(%)

D)

fergamadi otk faenfordi =t emfan @ 1<
e iufam
TR T R | X Eﬁ\
mﬁ%wﬁamgﬁ%ﬂﬁﬁm,
Frrhal, Figsran SR sraieiy aw
SO e e |
LGN
g%? 1 Faifees s Wi w9
(©)" e sike Ry oy hE
iR

Bt g
"

)

46.
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P srgede 91 @r® TR B W | 4y iy i et T 1 A A

T (1. 47 & 51) F IR AT | ¥1e2 Y g & 7
TR o e @ oo e [ ) PR B) R
el S e o e | © &= )

, SRR, ST TR | v e o e < 7
ari’ R, v S ) e 78 2, fr e (A) BR-TR GHF TH-AT 1 Gfw
T 1 IS 1 R € A TR A Sy FAR |

TR | T A, 92, o, g -, (B) e %l el 36 I G0 SEwa B |

330-33, WR-1R, Ae-ed TR FH TG (C) #RNEF e # % A
HA 5 §U 36 Td F1 HIETHR 1 |

T TR & T 3 - iy B | -
(D) ¥9H & I3 TEl
?ﬁﬁ%ﬁmma’r | FE wed w4 v | foamg =1 gg 9 F1fEd % vy w9 gug
fore w1-femmaftn firg gan 2 1 an eft 3 oo Hehel 1 GTHAT hdl AT 1T ?
¥ A g A | v st s g | —(A) 999 # wed ¢ B T R

R S A B RS S
A" R | 72 o SR W Ay @ T w@ & Egmﬁmmﬂm

= THAl 8, qF I w1 2w 3w of ;

© s sk s %
Al R | 570 % 6 A9 R | ver-ve e A e | 7 _ wm‘maafn
& 36 33 B & | AT g & gl v At (D) ¥ 3R srfear % mrf o 7@ Tem
¥ 22 ¥ 37 2 | 30! e o € G, i o o i 1%

w2 %ﬁmﬁﬁqﬁﬁmmmﬁm . maﬂtﬂ%m%"ﬁaﬁ'mﬁwm
— ‘ ﬁaﬁ%m’mﬁmw%?

T e \(37a: 3id ED :

eI A T8 & e 2) 3 D ——
%qﬁqﬁlﬁﬁ@%mﬂ%mﬂagﬁg gmgégﬁlaﬂtwnﬁw
S A 3 3 A denet @ w  3w B (B) % 78 &ft 1 ai 2 |,

il A T 9L, T8 e A 3R 1) a3 | 36 5 ﬁmmﬁﬁmmm
i@lﬁ;wm‘ﬁﬁmaﬂaﬂﬁ?ﬁm, (D) ggﬂaa?-{zgglz

R-FI-T T E @ AR | Fohe wew Im At | g
gl 2 e TE & T A 39w f forw m%m@wﬁwféﬁ? I

We ) 3 T 2 TE A T R, Ao e @ | (A) & F} FrTey ¢ |
mﬁq@_aﬁm'm,m%ﬁﬁ-ﬁﬁagrn@ (B) Eﬁ%qﬁ‘l’(aﬁm
—C) Nﬁﬁ%aa?aa;rmwam

EIGIE
TEaT ST & affy acd ol gedl ' (D) Am:h
04 ; 3 it Qa .:
EEE‘.‘-J% )f-f”"(
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g E. 529 56 : Frafefaa aferst 1 srepy " T R
# 3N I T IR Fedi 6 I E | “‘ﬁaﬁ%f&fﬁ:ﬂ?ﬁﬂﬁmﬁﬂg
Q. Nos. 52 to 56 : Study the following tab]e 99} ¥ fer fu 3R ufgeT | o =4
and answer the questions based on it. R I FAHI: T gl
[ R ¢ w7 whyad S0 & =g (FETRAT) ] The ratio between the total expenditure on
Expenditures of a Company (in Lakh Ry ees) per Taxes for all the years and the total 2.+
annum over the given years v expenditure on Fuel and Transport for all the A\
Y H N / Item of Expenditure Years respectively is approximately . -
— ~"(A) 109:151 (B) 4:7 g
-y | 3 EET %
I/ | 5 T (C) 15:18 (D) 105:108 —
Year / " s |+
Sﬂhﬂ'/ Fuel and |Bonus| Interest [Taxes|! 56- =4 2013 * S 3 W W HHT EF[ E3
2011 | 300 | Tmln o on_Loans = FRa & 7 ot
S0 T T a8 Wsoy (A) Tsss02ema B) ¥ 500.4 o 24
Qa013F 524\ 105 [ 284 | 316 [ 75 [, A€ I78MTE (D) I582.08FE
“[2014] 340 | - 135 2.68 26.4 78 14 What is the total expenditure of the 29 ¢
2015] 450 |\ 152 [ 296 | 3940 | 88 | dq0 company over these items during the —
52. 78 SR 2 R e 5@ S el
RIS (A) Z 586.02 Lakhs (B) % 500.4 Lakhs.
3hwa TR fpaeft g e -] (C)¥738.44 Lakhs (D) ¥ 582.08 Lakhs
AA) 26.66¥m@ (B) 22.427m@ mﬁgﬂstvﬁr%:gsﬁﬁﬁﬁ_ﬁiﬁq‘ha;g
(C) T28.82¥m@ (D) ¥ 30.12¥R@ Qi 3 10 TR | afert
What is the average amount of interest | g 3 Sl & I G 3 | (FR F =R
per year which the company had to pay | T (TS B W) P AR A T @I )
during this period ? Q. Nos. 57 to 61 : A person bought five carsin a
(A) T26.66 lakhs(B) T 22 42 lakhs day and put on rent for 10 days. Read the table
(C) ¥28.82lakhs (D) ¥30.12lakhs | and ?nswer the questions carefully. (Standing
_ . . ' i i taken as consideration.)
. Tﬂ ﬁ T}; ﬁ f ﬁrré time Ior car 1s not
a’;jéﬁ’rﬁuﬁr wmﬁﬂﬁmw G
. I | g ghaa FA
ﬁnéﬁm"ﬁgﬁmﬁaﬂw fepal FH AR BT T S Y /
afoeag 7 / Mileage of [0 T /| Total time taken
The total amount of bonus paid by the Car Average |to cover the total
company ‘' during the given period is dicae woen| covered Aope
approximately what .percent of n:;??] _ per day 10 days
?mnunt of salary pa(lg)dmanlgo /thls perio fsﬁaf 25;?;;;!'1:/?& 10f1EX/ | 5092 / hours 280
A) 03% 0 0 itre litres : = _
~(C) 0.6% (D) 1-5‘:# - i il o/ | S5 s | 00
ITCs —_—
54. 2011 % g7 Tft TG W F -~ (Ramit /|30 B /A [ 12y | soR/m
gﬁaﬂﬂaﬂ'ﬁmﬂﬁﬁﬂmﬂﬁﬁﬁmt ?ms N Tiago |/ kmylitre ires ours |1 3¢ ¢
all these 1€ : =
'21'3;311 \E:E{:]])f)lrtgﬁmoa?ely what percent 0 m: 20 f:"nj“fﬁ 25]:';” 802 / hours yul
the total expenditure in20157 s/ |25 5. /. | 209wy 008 T
(A) 7033% - B) 68.33% kowia | ki | ey | O | S
© T7261% (D) 75.75% ’ T
;
o
o
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57.

58.

10 fe1 3 v aifed) 3R M ) aimgg
Tfe =T 31ATd FAT AT 7

What was the ratio of the average speed
of Alto and Tiago during 10 days ?

(A) 11:10 (B) 10:11

(C) 5:6 _AD) 25:36

Fee! 3k fiwe fow mu 10 A F o
et Sited Tifa i T e & g
AT TR E | e F A9, A we-
TR F Yo fiig 4 s amn B § |
afe w& # 2w F o g 2300
. 2, @ siedt aik e a0 ww-gw
@ e & a1 319 e 7 TEE A
T H9E T 3 ST HITAT |

(A) 227% (B) 127%2

(€) o= (D) 398 & H¥E 7
Alto and Kwid is travelling towards each

other with speed same as their average
speed during the given 10 days. After

- meeting, they travel to each other’s

59.

a0

&

starting point. If initially distance between
both cars is 2300 km, then find difference
of time taken by Alto and Kwid to reach
their destination after meeting each other.
(A) 22hours - (B) 12 hours

(C) 0 hour (D) None of these

few g 10 i % o s Feft g 3wl
Frga nifa & 875 6.1, 6 amn w0 & e
a3 1 fau e 10 f&1 % <R i fawe

iﬁ,mmﬁaﬂmnﬁfﬁ 990 fep. =, <t I

mﬁmmma Wm%ﬁl
Find the ratio of the time taken by car

“Mini to travel 875 km with the average
- speed of it during the given 10 days to

the time taken by car Swift to travel 990
km with the average speed of it during
the given 10 days.

(A) 7:9 - .

(B) 44:47

~AC) 56:99

—

(D) ' ¥ & %1 7 /None ofthcse

04

]

l
I

10 fet 3 S fommm 3R et g o &

1 F1ITd fehaaT &1 7
n\éhﬁfw@; the ratio of the total distanc

/govcred by Tiago and Mini during 10 days *

60.

A) 18325 §B; 9:25
c) 18:5 D) 9:5
afe weft g 10 A & 71 6 e
oli, FR A 31 FHT B HAT: 150 H2f 3
300 i # 7 Fl E, A HFR A 3 BH
itera 7ifer o s <1 3Tat 31ra Fifsw |

If the total distances covered by all the
cars in 10 days is covered by car A and
car B in 150 hours and 300 hours

respectively, then find the difference
between average speeds of car A and B.

(A) 51 fep.ot. /avwer / km/h
(B) 50 .t /avar / km/h E4E
(C) 60 .. /aver / km/h e
~D) 61 %, /99r / km/h
W H. 62/ 66 : =1 @1 3nerE &1 Ierge w5t
S 2001 & 2006 @ DE @61 & S TedE a4
$ JFIE § S H Wi g9 3 S o
I FHATET 6 @ gt 2 | (F9 2000 %

61.

L 2 A A IS FwE e § e gan 2 aik

A€ FHH BER TR )

Q. Nos. 62 to 66 : Study the following line
graph which gives the number of employees
who joined the company and left the company
in the begmmngzof each year during six years,
from 2001 to 2006. ST ere is no employee
joined the company or

the year 2000.)

2000 # wafeat €1 wrfrs s = 5000
Initial strength of Employees in 2000 = 5000

eft the company during

E E gm} 3 ?l.ﬁl e TeT s
'z 600 0
2 g00—s00—_600 600 —
F= = 630
5 & 400—="—"T ___ 550 500 550 -

o 400 450 .

= 200 : .
€5,

2000 2002 2003 2004 2005 2006
wt / Years

— At § e g a wsft f wen

Number of employees who joined company
— e Gt A i o
Number of employees who left company
62. 2003 % SN Ht | it wdaiE) 6
e ot
The mumber of employees working in

t};\e co:;n%%ny durin BD 3:58-.'513 |
B -

Tssefeves
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63. ﬁﬂ‘émﬁﬁaaﬁm@‘ﬂﬂﬁﬁmﬁ 67. froe ad <1 qorn o form ad Icarea
S B et e 1 4 e Sfirra g we) aAferh o 7
1 HYA Bied aret FH=A! 61 Ay , . .
T A T PR 2 7 In which year the percentage increase in
2 The ratio of the least number of production was e compared
&? employees who joined the company to to the previous year ?
the maximum number of employees who (A) 2013 (B) 2012
left company in any of the years during (© 2015 (D) 2017
the given period is
(A) 14/13  (®B) 9/17 68. feu u fipam a1 & Rl 1 Ieared g
(© 12/17 _(D) 9/13 o T % 3iEd Iedreq § fUE U1 ?
64'. Mﬁﬁﬁﬁﬁﬁwﬁmw In how many of the given years was the
e _ﬂilfﬂlltlil 1 He § wieea ﬁﬁ / production of toys more than the average
Fi \ R 2 7 production of the given years ?
For which year, the crccnta%:z rise/fall (A) 2 (B) 1
in the number of employees who left the
company COII?lpared to the previous year ) 3 —D) 4
is maximum ?
/%A; 2002 EB 2001 69. 2013 & 2014 & flgeil & I |
C) 2003 D; 2004 wyn wferera fitree ferat oft 2
65. 2002 | 2003 T HHAE H GEA What was the approxi
pproximate percentage
v e witra <t gfg/+H & 7 decline in the production of toys from
The strength of employees increased / 2013 to 2014 ?
decreased from 2002 to 2003 by ! A) 15% B) 10%
approximately what percent 7 1
R 2% ®) 1% (C) 3% (D) 4% AC) 20% D) 25%
66. 2m3ﬁ$'q=ﬁﬁmaﬁém%a;darﬁ&iﬁ 70. 2015 3 2016 1 aEd I
FEAT, 2006 3 o F FHH FHE T FHE Freferfas # @ frg. 991 ¥ 79 ¥ shew
< e T e e o 7 IeTEH & faeTger s 7
The number of employees working in 1% A), 2014 3R 2016 31 201
company in 2003 was approximately what (A), 201 2015(3). e
nt of the number 2%1:)68;!19103’&3 AC)" 2012 32017 (D) 2014 3R 2016
working ";Stg? comp(mé;y 11;3 75% The average production of 2015 and
A7) 96",/ ’ D) 97'35% 2016 was exactly equal to the average
(C) 98% . ' = 3K production of which of the following
TH G, 679 71 : G AT Fl FAT pair of years ? g
36 T 3T e & IE | (A) 2014 and 2015(B) 2016 and 2017

Q. Nos. 67 to 71 : Study the bar graph and

(C) 2012 and 2017 (D) 2014 and 2016

i ed on it.
pswer the quc————“m:;b:mmwmﬁ, 71, 2011 ) g 2018 # faedHi F e
7 Pmdf:::n:?f?bn by company (in Lakhs) oyer the years % e wferera 9fg fperf ot ¢
Egm What was the approximate per.ceniglg;
55 2 increase in production of toys In 2
£ 40 compared to that in 2011 ?
E £ 20 AA) 1375%  (B) 183.33%
E 2011 2012 2013 331:1( 2015 2016 2017 2018 (C) 128.3 5% (D) l l ] —I 1%
cRi> —
=
— 11 ) 04
Q
Uo°
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72.

73.

74.

dmroR @ fren s (FE-30) an af
TR T I FH
aga S id g | Vo

(A) IFhaR (B), VIEST&l

(C) stmEm (D) THAFE
The pietra dura or coloured stone-inlay
work on marble became very popular in
the days of :

(A) Akbar  «B) Shahjahan

(C) Aurangzeb (D) None of these

Freferfian 3 4 fivm o 3 413 %1 vaeht an
o e e 7

(A) . 7=9§T9] 7 (B) ATHYTSTOT g0

(C) JUUNIIFT (D) F9THIo g

In which of the following age copper
was first used ?

(A) Mesolithic Age

(B) Chalcolithic Age

(C) Paleolithic Age

(D) Neolithic Age

ﬁmﬁaﬁa'ﬁﬁ%&mwmﬁa*

rfifer i e o mar o 7
(A) R (B)
_C) TR (D) urfag

The first Buddhist Council was held at

e || S—

76. <4 $% §T$A FOA h T g, 79w

77.

w freferiiaa 5 8 formesr s o 7

(A) TEHRE  (B) AN mmR
AC) ATIHHE (D) Y7 8HRE

When the East India Company was
established, India was ruled by whom
among the following ?

(A) A Gupta Emperor

(B) A Maurya Emperor

(© A Mughal Emperor

(D) A Sunga Emperor

YEH-AHeH  Higled frafafaa § @
fore g w& frmr mar e 2

e

(C) STITHTST ARTHY] E3E
(D) =T Fyer

The Bhoodan-Gramdan movement had
been started by whom -among the
following ? |

(A) Vinoba Bhave

(B) M. K. Gandhi

(C) Jayaprakash Narayan

(D) Acharya Kripalani

AA) Tomra wE

(B) .. Mt

which among the following places ? 78. € TWE I F onE, Frefatga § |
(A) Kashmir  (B) Gaya foe dmifas wrwal 3 mdsh w5
(C) - Rajgir (D) Pataliputra HIGIe1 ! heel qegl e |ifid 7 Ty F
75, Frfafign § 3 2 77 =fs 2 R am fere Trft fopan e 7
‘AT e of o 7 (A) dfear wmET «
(A) A ~(B). FHeeH FgeAT
AB) I HHIE 37 (C) fremawm
© "mEgg ., (D) 78 A &IE 78
(D) YEE g 0 During the Dandi Salt March, which
Who among the following is the person among the following social activist had
whose name was also ‘Dcvanam;)iya - persuaded Gandhiji not to restrict the
Piyadassi * ? . _ protests to men alone ? '
(A) Mauryan Emperor Chandragupta (A) Pandita Ramabai
(B) Mauryan Emperor Ashoka = - (B)  Kamaladevi Chattopadhyay
(C) Gautam Buddha (C) Madam Cama
(D) Lord Mahavir "’ (D) None of these
12
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79. TEATE I Teeh ww st FEffe
dafrgwfasaags ?
(A) Ieifie wifa
(B) R Hifd
(C) & il
(D) WhiHTE sHifd
The first clear expression of nationalism

came with which among the following
revolutions ?

(A) The Industrial Revolution »

_AB) The American Revolution
(C) The Russian Revolution y
(D) The French Revolution

§0. TR % Freferiaa 4 ¥ fra sifufm &
o Fas & ftiy wia = fFwfo gan ?
(A) W waaa sAfufam, 1947
(B) <& ISl
) Tore firem -

~(D) Wa ahR AfufEm, 1935

Which among the following Acts of the
Government led to the creation of the
Sind Province from Bombay ?

(A) Indian Independence Act, 1947
(B) Wavell Plan

(C) Cripps Mission

(D) Government of India Act, 1935

81 g gg 1 A T el R e
a1 ? ._ .
(A) e ersdd T4 N
-(B) H9M™ =g e f-b&o- el
© wmfiE
(D) =EEE IHQ .
Who gave the famous battle cry ‘Chalo
Dilli’ ? . .
(A) Lala Lajpat Rai
(B) Subhash Chandra Bose
(C) Bhagat Singh
(D) Chandra Shekhar Azad
——

i

82.'ﬁﬁmﬁﬂaﬁqmﬁmwﬁ

S g e SIS T & 7
(B) @,

(C) afredvfiey, fp) THIC
Which of the following 1s not the
economic factor for influencing the
population distribution ?
(A) Urbanisation
(B) Minerals
(C) Industrialisation
~(D) Availability of water .
83, fava 6 = el T AR TR
FdufRme |
(A) WRE i (B) WA A e
(©) et afk forea (D) T & IS TE
Mount Everest — the highest peak in the
world is located between
(A) India& Nepal (B) India & Bhutan ¥
~(C) Nepal & Tibet (D) None of these
84, Frferfiaa o & wia H “Jegat <l T H
T FR R ?

(A) @ 3 Tim o Bt garh 3 3ed 7
(B) = 3T ¥ o1 3= A19HH
(C) F=ameamnd
(D) M 3 = W
Which among the following is the main
reason for “October heat” in India ?
~(A) . Low pressure system in Gangetic
plf:uns-in India
“(B) High temperature associated with
- high humidity ~* -
(C)-
(D)

Low velocity winds
Hot and dry weather =1

YRS 7 g Hafa Ares g9 (GMT)

a___ wmR

(A) 4% ®) 74

O, Sé—ﬂ% ) 3%*&%‘

Indian Standard Time is ahead of "
‘" 'Greenwich Mean Time (GMT) by .

85.

(A) ‘4hours -~ (B) 7hours
©) 51 hours (D) 3%1’101::5

2

P —

Q
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90. Frafafad d 8 +1 t& aftiers ¥ 7

86, frfefgn # & #1 @1 &Ra wifq 6
e = e e ? 27
(A) TETERE 4 A drgehTed (A) T,
®) ¥ 39 3 areh Rl & ofte o
(©) frmd (B) et N
(D) Tt (C) 3. .3, 6137, &% éﬁ%
Which among the following was a part R e
of the green revolution strategy ? —~D) ;
(A) Chemical fertilizers and pesticides Which of the following is not a
(B) High yielding variety seeds- Commercial Bank ?
C) Irrigation-
_AD) All of these (A) HSBC
87. Tr=fefgs # & feg 6 =1 faen =1 o=’ (B) State Bank of India
HE AR ? (C)  ICICI Bank
(A) T (B) TR (D) SIDBI
T
i o the folloving svers s known. | 1, e % & i e 4
(A) Damodar (B) Hooghly ITHH HEE % 8 Uk fa9 F giia
(C) Ghaghara (D) Kosi eeh TyTfua o man g 7
(88) mﬁwmﬁﬂmm (A) formfta 3usw(B) Amfies frm
frrferiea 3 @ feass gra @ oft ¢ ,
(A) W@ % Ity § © UHE I (D) ﬁﬁﬂﬂﬂéﬂ%’f
B) fwatm W];mha}?jge t{f the fol!owmg public sector
©) Wﬁm - un :.;:1 1 g is ﬁtab!lshed by passing a
(D) T Harer Spe aw under Parliament ?
The final approval to the five year plans (A)  Departmental Undertaking
glllgfahri; gw;:s given by whom among the (B) Statutory Corporation
Eg; gice-President of India % (C) Sole Proprietorship
inance Secretary.
&{C) National Devclopﬁ:uent Council (D) None of these
AD) Ministry of Finance 92. WA € @
89. el of fpreefir srfeoaaeen % Wi | g o 9 FrEwiel § Fefafen § @
o, sferwie il i AR
ﬁmﬂlﬁﬂ?ﬁi | (A) :‘W{'I'Eqﬁ' (B) u‘g'qﬁ
(g) fifes —B) i © WSt (p) Tl % e
qi‘"qaﬁ D sy . .
,(qt)the initial mgf,.s )Ofwdeveloping : ;r:ln ;l:le }Iinon' Ex'ecutw'c of India; who
e‘:;,mu:)mjf,\'-]:'11'1'-= majority of activities ” %r hﬂ lowing is not included ?
belong to the __ sector. e Vice-Presid
(A) Secondary ) ®) Thcplce'd resident
(C) Tefﬂﬁﬁon Technology - e rlfne hti.artlstcr
(D) Info (D)  The Chief Minister of States
14
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93. frafafas # 4 = w IE=oe WA
wfaum 3 gats = f A IR
T HERHR ?

Which of the following article is about

Establishment and® constitution of

Supreme Court in Indian Constitution ?
(A) 120 (B) 118
(C) 122 D) 124

9. ¥ e Hfers st A @

FAHI AR |

4A) A e 3R I A
(B) HHE HeH

(C) ugdfa

(D) ¥ A HE T

__ has/have the power to
implement the Fundamental Right.
(A) The Supreme Court and High Courts
(B) Members of Parliament
*',iﬂ__(C) The President
S (D) Noneof-these,
95, Wi , TP HEEeR SR
Frferfiaa # & fore FeE & AR 7
(A) EIEAEE  (B) W&@HAH
(©) famed (D) FHAFET
In India, The National Human Rights
Commission is under which of the
following ministry ?
~A) - Ministry of Home Affairs
(B) Defense Ministry
(C) Finance Ministry
(D) None of these

%, Prffgq # @ fd P Sy wnfed
mﬁ'ﬁmwwﬁﬁa:dm

sfpr 2 7 ) m
(A) gar= =
(c; g (D) & ¢ T

i ight
Who among the following has the rght
to set up a High Court in any Union

Territory ? _
(A) Sr:prcme Court (B) Parliament

(C) President (D) None of these

p———— e

3""-—-——-——-"" e

g

18

97.

ﬁﬁ%ﬁﬂﬁﬂﬂ?maﬂﬂﬁlmqﬁ% ?
(A) (B) HeA
(C) e (D)
Which among the following is_not a
plant fibre ?
(A) Jute (B) Cotton

AC) Nylon (D) Flax

OB) i @ in Frefaaa § 3 frE Pl

99.

100.

FATR 7
(A) cEE (B) I dTIHM
©) gEhEgh (D) IFIET

The colours of the stars depends upon
which of the following ?

(A) Pressure,

_{B) Its temperature
(C) Distance from earth
(D) Pollution of the air

frafafea § & | © 9 wEa 9 &
foru fordien 2 7

(A) wdifed st 1

~(B) HEEa g

(C) WTEE WTHfaeh

(D) AT

Which among the following gases is
responsible for global warming ?

(A) Compressed Natural Gas

(B) Greenhouse Gas

(C) Piped Natural Gas

(D) "Oxygen

o s e 3 Preriam & e
307 ) wifead AR 7 .

A TmAB) F
L© T (D) w

Pneumonia affects . which of the
following part of human body ?

(A) Kidney (B) Lungs

(C) Liver - (D) Heart
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